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6. Most of the payments to Social Security recipients come from which
source?

A. taxes paid by people currently working and their employers

B. taxes paid by recipients and their employers when they were working

C. individual retirement accounts funded by current workers and their
employers

D. individual retirement accounts funded by recipients and their

employers when they were working
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13. Most states have “lemon laws.” These laws protect buyers from
A. false advertising.
B. credit card fraud.
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C. defective products.

D. contaminated produce.
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12. When Desmond buys an expensive product he spends time getting
information about it. But when he buys an inexpensive product he
spends little time getting information on it. Which of the following
best explains his economic decision about gathering product
information?

A. The benefits of getting information on the expensive product are low.

B. The benefits of getting information on the inexpensive product are
high.

C. The benefits of getting information on the inexpensive product are
less than the costs.

D. The benefits of getting information on the expensive product are

greater than the costs.
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17. What is the primary purpose of an IRA?

A. allows workers to pay taxes with each pay check

B. provides incentives for people to save for retirement

C. eliminates the need for savers to collect Social Security
D

. creates savings accounts for current health-care expenses
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16. Noah has $15,000 in his savings account at the major bank in his
city. Which of the following best explains why Noah feels his money
is safe?

A. The bank pays interest on his savings account.

B. Noah's savings account at the bank is FDIC-insured.

C. The bank offers investment services in addition to savings accounts.
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D. Noah has both a checking account and a savings account at the bank.
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18. Which of the following is an advantage of a 401(k) retirement plan
over a private savings plan that a worker establishes for retirement?

A. Employers may contribute to a 401(k) plan.

B. An unlimited amount can be contributed to a 401(k) plan.

C. The money withdrawn from a 401(k) plan at retirement is not taxed.

D. The government guarantees a minimum rate of return on a 401(k) plan.
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HF o T |HE | F | HMe | F A& F |He| 7| HE
9 S| 65 | 65 | 456 | 45.3 | 150 | 14.9 | 335 | 33.3 |1,006| 100.0
u)= | 254 | 209 | 637 | 52.3 | 127 | 104 | 200 | 16.4 |1,218| 100.0

0 S| 43 | 43 | 762 | 757 | 46 | 4.6 | 155 | 154 |1,006| 100.0
H)= | 241 | 19.8 | 554 | 45.5 | 230 | 18.9 | 193 | 15.8 |1,218| 100.0

)1 S| 45 | 45 | 156 | 155 | 187 | 18.6 | 618 | 61.4 |1,006| 100.0
b= | 172 | 141 | 251 | 20.6 | 283 | 23.2 | 512 | 42.0 |1,218| 100.0

” St | 148 | 147 | 160 | 159 | 161 | 16.0 | 537 | 53.4 |1,006| 100.0
b= | 242 | 199 | 251 | 206 | 165 | 13.5 | 560 | 46.0 |1,218| 100.0

’ S| 8 | 08 | 8 | 87 | 186 | 185 | 724 | 72.0 |1,006| 100.0
Y b= 61 | 50 | 70 | 5.7 | 130 | 10.7 | 957 | 78.6 |1,218| 100.0
” St | 448 | 445 | 154 | 153 | 93 | 9.2 | 311 | 30.9 |1,006| 100.0
vl | 735 | 60.3 | 166 | 13.6 | 126 | 10.3 | 191 | 15.7 |1,218| 100.0

55 S| 78 | 7.8 | 406 | 40.4 | 134 | 133 | 388 | 38.6 |1,006| 100.0
b= | 196 | 16.1 | 238 | 19.5 | 115 | 9.4 | 669 | 54.9 |1,218| 100.0

” S| 76 | 7.6 | 601 | 59.7 | 144 | 143 | 185 | 18.4 |1,006| 100.0
ul= | 113 | 93 | 671 | 55.1 | 170 | 14.0 | 264 | 21.7 |1,218| 100.0

- =t | 628 | 62.4 | 105 | 104 | 132 | 13.1 | 141 | 14.0 |1,006| 100.0
H)= | 511 | 42.0 | 311 | 255 | 182 | 14.9 | 214 | 17.6 |1,218| 100.0

- S| 220 | 219 | 156 | 155 | 113 | 11.2 | 517 | 51.4 |1,006| 100.0
H)= | 400 | 32.8 | 155 | 127 | 151 | 12.4 | 512 | 42.0 |1,218| 100.0
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20. Collateral for a loan is

A. the fee charged for not repaying the loan.

B. property the bank can sell if the loan is not repaid.

C. the amount in damages the bank is due for a late payment.

D. the contract the bank holds in its vault until the loan is repaid.

gERT Wi e,
153 ghge] g 4

259 B4 717 33} o] AHEe] thE AuAel
4 & el A=) Aol7k g A

o

v
o

F—l[: olo
|=|

rJ

= 1] dF7F M= tar] dize] HY

ot ol 2] AEA BE AYshd “aik A S 217 1A AdE ATk

b ¢2uzte] 2835 d3e] F8 JF Folls AT o4t Al

Ashe Aol YoiA Tolw AHREtE Q@A7} Ago] BTk ofol] we} Mg B

2 o ofRE WAOE BT, TR A T S R ATt

2 MR & ATAS] WA AES AR A2 ARst olds Wae)
2 WYAIE HOE JgEAE agkor), AnE o dTe B

A ANz T1e) JRE ANAET 48 DS BPEReHE 4B

71t AT ARG I RS WA o8 BUITL@0A%ERE ORI

X ollsiar Qe S0l W

25. Credit counseling services will do which of the following for
consumers with credit problems?

A. help them apply for a credit card
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B. provide legal help to file bankruptcy

C. represent them in court against creditors

D. negotiate payment schedules with creditors
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29. Which of the following statements about taxes on financial
investments is correct?

A. Investors pay no taxes on capital gains from stock investments.

B. Investors pay no taxes on interest earned from bond investments.

C. Tax rates on financial investments will vary by the type of
investment.

D. Tax rates are higher for high-risk investments than they are for

low-risk investments.
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37. Paul paid for auto insurance every year but never had an accident or
filed a claim. Did he get anything of value for the money he paid?

A. No, because the insurance company never had to pay a claim.

B. No, because he protected himself and his car by being a careful driver.

C. Yes, because the insurance company was paid to assume his accident risk.

D. Yes, because the insurance company paid his interest on the

premiums he paid.
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42. Maria had a stroke and cannot work at her job as an accountant for
at least a year. Which type of insurance would replace her income

while she cannot work?

A. life insurance

B. liability insurance

C. disability insurance

D. unemployment insurance
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45. Workers’ compensation is an insurance program for workers
A. after they retire.

. who have low incomes.

after they lose their jobs.

. who have been hurt on the job.
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43. Which type of auto insurance would pay for the repair of a cracked
windshield caused by a rock hitting it?

A. liability

B. collision

C. comprehensive

D

. uninsured motorist
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<Abstract>

An Analysis on the Translation Bias for International

Comparison of Financial Literacy”

kokck

Kyungho Jang** - Jinsoo Hahn

This study aims to propose the points to be noted in the translation process by
examining the validity of the test for international comparison of financial literacy. As a
result of classifying the items according to differences in terms and systems, we found
that most of the translation bias was caused by the problem of term selection. In
particular, there was a tendency to inevitably provide clues to the correct answer in the
process of translating those English abbreviations or taking into account differences in
the system. On the other hand, when different systems were translated in each country's
everyday terms, there was no significant difference in the percentage of correct answers.
These results implies that in the international comparison of financial comprehension,
item developers should avoid using the terms that contain abbreviations or proper nouns,
while researchers who want to conduct international comparisons should be very careful

when comparing financial literacy for questions that use those terms.
Key words: Financial literacy, Translation bias, TFL, Economic education
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